Subject: Re: Strange array division problem
Posted by David Fanning on Tue, 05 May 2009 13:07:59 GMT

View Forum Message <> Reply to Message

Dave Klassen writes:

> This seems to do it (well, without the transpose---1 assume because
> |IDL thinks of standard vectors as columns...?).

No, IDL does not think of standard vectors as columns.
Cheers,

David

P.S. I'd give that result an extra pair of eyeballs

before you turn it in for a final grade. :-)

David Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming: http://www.dfanning.com/
Sepore ma de ni thui. ("Perhaps thou speakest truth.")
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